YCcTHBIN CUeT Ha TEMY:
«Ca0KeHNe 1 BhIlUMTaHue
B ipegeaax 100»

BbIMOAHUAM CTYAEHTKM 31 rpynnbl :
[OAOBMHA TATbAHA,
XBOCTOBQO EkaTepmHA



Pemnnre npuMepsl

43+5=43 8/-205 67

/9-8=|71 43+305 73

80-60=| 20 47+39= 86

50-25=[ 25 80+10=9(

40-1/= 23 12+46= 58




Perminite 11ierroukm
40 | 5 3 6 @+46 50
| @m 5 @*9 36
28 | 7 @*8 @+8 :10 4
56 '8 @+13 4 @*8 40




Pemnre 3agauy

Ha noasse 06110 28 KOPOTHIIIEK 1
52 rpuba. 12 KOpOTHIIIEK 1104
IpUOBI HE CIIPATAAVICD, @ OCTaAbHbBIE
ceAn Ka>kKAbIN I10A OTAeAbHBIN
rpu0. CKOABKO rpmuOOB OCTaA0Ch
0e3 KOPOTBIIIIEeK?

OT1BeT: (36 rpubos




